R6.3. 1 BlE SramEEAnR S sl R

JNE] i H FEHE BRI fhENRE TN E)
LU HaEL 5 i ] A HEPER| AR SET| I EsA ERsH &EH (H) | (&)
x| 49, 223 109, 578] 53, 257] 56, 321 38 2o  -52 58 110 30 421 391 0 95 95
HI—TH 695 1,468 714 754 -1 3 2 2 0 1 11 10 0 1 1
FLl T H 569 1,295 644 651 1 1 -1 1 2 4 6 2 -2 0 2
LI =TH 474 1,047 498 549 6 3 -1 0 1 9 9 0 -5 1 6
SuAE 1, 7381 3,810]  1,856| 1,954 6 7 0 3 3 14 26 12 -7 2 9
Sk —TH 487 930 437 493 5 7 1 1 0 4 7 3 2 2 0
. = 735 1,691 811 880 0 -2 -2 0 2 0 2 2 0 0 0
SR —TH 556( 1,277 611 666 1 0 2 2 0 —4 5 9 2 2 0
S AT H 397 874 437 437 0 -2 -2 0 2 0 1 1 0 0 0
ot T H 610/ 1,308 633 675 -2 =10 —4 0 4 -7 2 9 1 1 0
BN T B 238 495 249 246 2 1 -2 0 2 2 2 0 1 1 0
ARt TH 646| 1,625 785 840 6| -10 -6 0 6 -2 6 8 -2 0 2
oA\ T H 388 838 382 456 0 1 -1 0 1 2 2 0 0 0 0
IV B 621| 1,465 716 749 0 -1 -1 1 2 1 4 3 -1 0 1
S naEl 4,678 10,503 5,061 5,442 -16 -15 4 19 —4 31 35 3 6 3
e n—1H 358 793 391 402 0 -1 0 1 1 3 2 0 1 1
sk T HL 1,019 2,090 1,050 1,040 —4 —4 -3 1 4 -1 0 1 0 0 0
HHk o —TH 676| 1,380 674 706 -3 —6 -2 0 2 -2 1 3 -2 0 2
Wk A AErl 2,053 4,263| 2,115| 2,148 -5 =10 -6 1 7 -2 4 6 -2 1 3
ST a1 H 560[ 1,242 595 647 -2 -1 0 1 1 0 3 3 -1 0 1
ek R _TH 365 920 462 458 2 -3 0 1 1 2 4 2 -5 0 5
Mk R =TH 251 542 276 266 3 3 0 0 0 2 2 0 1 1 0
ik L G| 566 1,307 670 637 -1 0 1 2 1 -1 3 4 0 0 0
msEr aaEtl 1, 742( 4,011 2,003 2,008 2 -1 1 4 3 3 12 9 -5 1 6
TEIT) 378 843 409 434 1 -1 -2 0 2 0 1 1 1 1 0
HOEEN— T H 215 439 223 216 1 2 1 1 0 1 4 3 0 0 0
HOEE T H 425 932 459 473 0 -1 2 2 0 1 2 1 -4 0 4
HoEEI =T H 698 1,677 817 860 6 5 0 2 2 5 7 2 0 0 0
HOEEAN T H 812l 2,038] 1,015 1,023 2 15 1 1 0 2 6 4 12 13 1
HEROH T H 443 1,023 518 505 2 3 0 0 0 3 3 0 0 0 0
HOEEIS T H 399 857 420 437 -1 -1 0 0 0 -1 11 12 0 0 0
HoEEOETH 679 1,430 704 726 3 2 -2 1 3 4 10 6 0 0
HOEEHOSE 3,671 8,396| 4,156| 4,240 13 25 2 7 5 15 43 28 8 13 5
PEEE| 1,508 2,725 1,308 1,417 -7 -8 -3 0 3 —4 5 9 -1 1 2
FHIAR 302 632 324 308 -1 -1 0 1 -1 0 1 1 1 0
EE g —T 5471l 1,110 513 597 3 7 1 2 1 2 5 3 4 4 0
EE g — T 260 514 253 261 0 1 1 1 0 0 2 2 0 0 0
R =T H 532 1,169 578 591 -3 —6 -3 1 4 -2 0 2 -1 0 1
TEE Py T 663 1,321 621 700 2 10 1 1 0 3 8 5 6 6 0
EEP g R T H 236 543 266 277 -3 -3 0 0 0 -2 0 2 -1 0 1
EER A2 2 2381 4,657] 2,231 2,426 -1 9 0 5 5 1 15 14 8 10 2
EEIARRT— T H 704 1,396 660 736 —/ -5 0 0 0 -5 4 9 0 0 0
EEIARRT T H 674 1,292 597 695 —4 —4 1 1 0 -3 5 8 -2 0 2
EEOARRTAE] 1,378 2,688] 1,257 1,431 -8 -9 1 1 0 -8 9 17 -2 0 2
RPN 283 787 430 357 1 2 0 0 0 1 2 1 1 1 0
WHR—TH 729 1,638 801 837 2 2 2 2 0 2 5 3 -2 0 2
R T H| L7400 3,932] 1,892| 2,040 -7l -17 -2 1 3| -12 8 20 -3 0 3
WHR=TH 879 2,215| 1,085 1,130 3 4 -2 1 3 4 7 2 2 0
HHRIT H 502/l 1,201 571 630 2 -2 0 1 1 -3 4 1 1 0
HPREEE 3,8501  8,986| 4,349 4,637 0l -13 -2 5 7 -9 24 33 -2 3 5
HiR—TH 734 1,583 775 808 -1 —4 0 1 1 -5 6 11 1 1 0
LR - TH 952l 2,247| 1,125 1,122 2 1 -3 0 3 6 10 4 -2 2 4
PR =TH 509 1,065 550 515 2 -2 0 0 0 0 15 15 -2 0 2
dbriR&EH 2,195 4,895|  2,450| 2,445 3 -5 -3 1 4 1 31 30 -3 3 6
T IROBTHT 328 809 391 418 2 4 0 0 0 3 6 3 1 1 0
WEl 1,605 5,058 2,244 2,814 1 6 -1 3 4 2 15 13 5 6 1
M E T H 764 1,727 830 897 8 17 -1 1 2 6 9 3 12 14 2




R6.3. 1 BlE SramEEAnR S sl R
JNE] Fij T EE I H SREh e fhENRE TN E)
LU HaEL 5 i s A AR AR SET) ] A EREH &EH (H) | (&)

FYlE 1T H 764l 1,791 890 901 3 3 -1 0 1 2 7 5 2 2 0
MoE =1 H 638 1,484 728 756 0 -5 -2 1 3 -7 3 10 4 5 1
A EN T H 922l  2,179] 1,030 1,149 —4 -8 1 1 0 -1 6 7 -8 0 8
RCENNE 673 1,500 743 757 4 -2 -1 1 2 5 6 1 -6 0 6
MAEST H 418 970 453 517 -2 -2 -1 1 2 -1 2 3 0 0 0
Ml Eae 4,179 9,651 4,674] 4,977 9 3 -5 5 10 4 33 29 4 21 17
VEPIe S 5811 1,141 559 582 —4 -7 -3 0 3 —4 6 10 0 0 0
e —TH 323 689 329 360 -1 -2 -2 0 2 -1 0 1 1 2 1
i — T H 598( 1,309 625 684 0 0 -2 0 2 4 8 4 -2 1 3
A gl 9211 1,998 954| 1,044 -1 -2 —4 0 4 3 8 5 -1 3 4
Eh— 1 H 307 680 345 335 -1 —4 1 1 0 —4 1 5 -1 2 3
B — T H 674/ 1,394 654 740 1 2 -1 0 1 1 4 3 2 2 0
=T H 424 1,079 541 538 2 1 -1 0 1 2 7 5 0 1 1
AR 1,405 3,153 1,540| 1,613 2 -1 -1 1 2 -1 12 13 1 5 4
e —TH 386 911 428 483 -2 -5 -1 0 1 -4 0 4 0 0 0
WHE T H 450 1,078 536 542 2 2 1 1 0 0 2 2 1 1 0
HHE T H 828 2,037| 1,041 996 -1 1 3 2 1 5 4 -1 0 1
W& T B 4491 1,020 497 523 4 5 1 1 0 4 5 1 0 0 0
B E ] H 837l 1,786 883 903 -1 —4 -1 0 1 —4 2 6 1 1 0
HHIENT H 239 491 247 244 0 -2 -2 0 2 1 2 1 -1 0 1
HE SR 3,189  7,323] 3,632| 3,691 2 -3 -1 5 6 -2 16 18 0 2 2
<HWE—TH 593 1,324 639 685 —4 -8 -2 1 3 —6 1 7 0 0 0
<HEIL—TH 713 1,479 718 761 0 2 0 1 1 2 9 7 0 3 3
SHBEIL=TH 515 1,110 548 562 1 -2 -1 0 1 0 3 3 -1 0 1
<HEWLPTH 586f 1,178 579 599 4 -2 -2 0 2 -2 6 8 2 2 0
<O T H 280 609 329 280 1 2 0 0 0 5 5 0 -3 0 3
<MEEEH 2,687 5,700 2,813 2,887 2 -8 -5 2 7 -1 24 25 -2 5 7
WIE AR —TH 796 1,692 822 870 3 3 0 2 2 8 10 2 -5 0 5
WIEAR T H 482 1,131 583 548 2 -2 -2 0 2 1 4 3 -1 0 1
OIEARTSE 1,278 2,823| 1,405 1,418 5 1 -2 2 4 9 14 -6 0 6
s 405 778 366 412 -1 0 1 1 0 0 3 -1 0 1
ek —TH| 1,156) 1,836 854 982 -5 —6 3 3 0 —6 14 20 -3 1 4
e T H 595 1,067 516 551 10 14 1 1 0 10 14 4 3 3 0
kR =T H 729l 1,787 840 947 1 -1 -2 1 3 1 9 8 0 0 0
sk BRI H 424 861 415 446 9 6 -1 0 1 5 9 4 2 2 0
o aaEtl 2,904 5,551 2,625] 2,926 15 13 1 5 4 10 46 36 2 6 4
FRIREET 21 51 26 25 -1 -1 0 1 0 0 0 0 0 0
B 740( 1,718 826 892 2 4 0 0 0 5 9 4 -1 0 1
VEEE 325 724 333 391 -1 -6 0 0 0 —7 3 10 1 1 0
e — T H 453 1,096 542 554 0 -3 -1 0 1 1 2 1 -3 0 3
e T H 412 917 452 465 -2 —4 1 1 0 -5 1 6 0 0 0
oo B R 865 2,013 994 1,019 -2 -7 0 1 1 —4 3 7 -3 0 3
P — T H 7100 1,436 710 726 2 1 0 2 2 3 14 11 -2 0 2
P T H 544/ 1,289 609 680 1 3 -1 0 1 4 4 0 0 0 0
WeEEm A Er 1,254 2,725 1,319] 1,406 3 4 -1 2 3 7 18 11 -2 0 2
P e 316 690 353 337 —4 -3 -1 0 1 -3 3 1 1 0
BEHIR 208 476 254 222 2 2 -1 0 1 2 1 1 0




